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To Ayker; this is idolatry — ©%3215 NTIAY 7T IPYY

Overview
The &n>>12 (of 7"'2°7) interprets the P109 which states' 13 nown 1Py W that WPy refers
to 1"v.2 Our Moo explains why 1"V is called 7py.

1Py NOYOY
For its end (of the 1"V) is to be uprooted.

Summary
We refer to all 1"y as 7py, for they will eventually be uprooted.

Thinking it over
Why does the 710 refer to 1"y as Tpy, and not write clearly 2°2°%X or IR QPOK,

etc.?’

11,75 (7m2) X997 reads, 73 DOBYD PYY IR T2Y AW 737 203 AV TOIR 7 92y 2N N3 7 2D o3
2 See *"w1 on the A1 7"7 "2 M.
3 See 1"am on the p105.
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